1. Dezimalrechnung: alle Grundrechenarten 	   Name _______________

16 + 0,2 + 754,1 + 7,58			   1,46 + 12,4 + 0,578 + 10,204
	
	
	
	
	
	
	
	
	
	
	          
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



753,1 – 3,654 – 521,23 – 129,216            238,9 – 32,86 – 153 – 19,71
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16 + 0,2 + 754,1 + 7,58			   1,46 + 12,4 + 0,578 + 10,204
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